

## An extension of the properties of inverse $\alpha$ -cuts to fuzzy multisets

DASHARATH SINGH, ALHAJI JIBRIL ALKALI, AHMED IBRAHIM ISAH

Received 31 October 2014; Revised 16 December 2014; Accepted 20 December 2014

**ABSTRACT.** This paper describes inverse  $\alpha$ -Cuts and their properties in fuzzy multisets. In particular, it is shown that certain properties of inverse  $\alpha$ -Cuts that hold in fuzzy sets do not hold in fuzzy multisets.

2010 AMS Classification: 03E72, 03E99, 03F05

**Keywords:** Fuzzy set, Fuzzy multiset,  $\alpha$ -Cut, Inverse  $\alpha$ -Cut.

**Corresponding Author:** Dasharath Singh ([mathdss@yahoo.com](mailto:mathdss@yahoo.com))

### 1. INTRODUCTION

**Z**adeh [13] introduced the notion of  $\alpha$ -cut (or  $\alpha$ -level set) of a fuzzy set. Ever since, it has been used for various purposes (see e.g., [3, 4, 5, 6, 7]). In addition, Sun and Han [10] introduced the notion of an inverse  $\alpha$ -cut of a fuzzy set and described its properties. Also, Singh *et al.* [9] studied analogues of properties of  $\alpha$ -cuts and Decomposition theorems of fuzzy sets in fuzzy multisets.

In this paper,  $\alpha$ -cuts and their properties in fuzzy sets and fuzzy multiset are briefly presented in section 2. In section 3, inverse  $\alpha$ -cuts and their properties in fuzzy sets are described. Finally, in section 4, inverse  $\alpha$ -cuts and their properties in fuzzy multisets are studied.

### 2. $\alpha$ -CUTS AND THEIR PROPERTIES IN FUZZY SETS AND FUZZY MULTISSETS

**Definition 2.1.** ( $\alpha$ -cuts in fuzzy sets [13])

Let  $X$  be a non-empty set and  $F(X)$  the set of all fuzzy sets of  $X$ . Let  $A \in F(X)$  and  $\alpha \in [0, 1]$ . Then the non-fuzzy set (or crisp set)

$${}^{\alpha}A = \{x \in X \mid \mu_A(x) \geq \alpha\}$$

is called the  $\alpha$ -cut ( or  $\alpha$ -level set) of  $A$ .

If the weak inequality  $\geq$  is replaced by the strict inequality  $>$ , then it is called the *strong  $\alpha$ -cut*, denoted by  ${}^{\alpha+}A$ . That is,

$${}^{\alpha+}A = \{x \in X | \mu_A(x) > \alpha\}.$$

**Proposition 2.2.** For  $\alpha \in [0, 1]$ , the following hold:

- i.  ${}^{\alpha+}A \subseteq {}^{\alpha}A$
- ii.  $\alpha_1 \leq \alpha_2 \Rightarrow {}^{\alpha_2}A \subseteq {}^{\alpha_1}A$
- iii.  $A \subseteq B \Rightarrow {}^{\alpha}A \subseteq {}^{\alpha}B$
- iv.  $A = B \Rightarrow {}^{\alpha}A = {}^{\alpha}B$
- v.  ${}^{\alpha}(A \cup B) = {}^{\alpha}A \cup {}^{\alpha}B$
- vi.  ${}^{\alpha}(A \cap B) = {}^{\alpha}A \cap {}^{\alpha}B$
- vii.  ${}^{\alpha}A' = \left( ({}^{(1-\alpha)+}A) \right)'$ , where  $A'$  is the complement of  $A$ .

*Proof.* See [5] for proofs. □

**Definition 2.3.** (Fuzzy multisets) Yagar [12] defined fuzzy multisets as follows: Assume  $X$  is a set of elements. Then a fuzzy bag (fuzzy multiset)  $A$  drawn from  $X$  can be characterized by a function  $Count.Mem_A$  such that

$$Count.Mem_A : X \rightarrow Q;$$

where  $Q$  is the set of all crisp bags (multisets) drawn from the unit interval. Syropoulos [11] defined fuzzy multisets in a relatively more elaborate form as follows: A fuzzy multiset  $A$  in some universe set  $X$  is a multiset in  $X \times [0, 1]$ . In other words, a fuzzy multiset is a multiset of pairs, where the first part of each pair is an element of  $X$  and the second part is the degree to which the first part belongs to the fuzzy multiset  $A$ . That is,

$$A : X \times I \rightarrow \mathbb{N},$$

where  $I = [0, 1]$  and  $\mathbb{N}$  is the set of positive integers including 0.

**Definition 2.4.** ( $\alpha$ -cuts in fuzzy multisets [8, 9])

The  $\alpha$ -cut ( $\alpha \in (0, 1]$ ) of a fuzzy multiset  $A$ , denoted by  ${}^{\alpha}[A]$ , is a crisp multiset defined as follows:

$$\mu_A^j(x) < \alpha \Rightarrow cont {}^{\alpha}[A] = 0$$

$$\mu_A^j(x) \geq \alpha, \mu_A^{j+1}(x) < \alpha \Rightarrow cont {}^{\alpha}[A] = j, j = 1, 2, 3, \dots, L(x).$$

Moreover, the strong  $\alpha$ -cut ( $\alpha \in [0, 1)$ ), denoted by  ${}^{\alpha+}[A]$ , is a crisp multiset defined as follows:

$$\mu_A^j(x) \leq \alpha \Rightarrow cont {}^{\alpha+}[A] = 0$$

$$\mu_A^j(x) > \alpha, \mu_A^{j+1}(x) \leq \alpha \Rightarrow cont {}^{\alpha+}[A] = j, j = 1, 2, 3, \dots, L(x).$$

For  $x \in X$ , the membership sequence of a fuzzy set  $A$  is defined as a (monotonic) decreasing sequence of the elements of  $count A(x)$ , denoted by

$$(\mu_A^1(x), \mu_A^2(x), \dots, \mu_A^p(x)),$$

where  $\mu_A^1(x) \geq \mu_A^2(x) \geq \dots \geq \mu_A^p(x)$ .

Moreover, for defining an operation between two fuzzy multisets  $A$  and  $B$ , the lengths of the membership sequences  $\mu_A^1(x), \mu_A^2(x), \dots, \mu_A^p(x)$  and  $\mu_B^1(x), \mu_B^2(x), \dots, \mu_B^q(x)$

$\dots, \mu_B^{p'}(x)$  need to be set equal. Lengths  $L(x; A)$  and  $L(x; A, B)$  are, respectively, defined as

$$L(x; A) = \max\{j : \mu_A^j(x) \neq 0\}; \text{ and}$$

$$L(x; A, B) = \max\{L(x; A), L(x; B)\}.$$

For brevity,  $L(x)$  for  $L(x; A)$  or  $L(x; A, B)$  is also used if no confusion arises.

**Proposition 2.5.** *Let  $A, B \in \text{FM}(X)$ , the class of all finite fuzzy multisets of  $X$ . The following results hold for  $\alpha, \beta \in (0, 1]$ :*

- i.  $]A[_\alpha \subseteq [A]_\alpha$
- ii.  $\alpha \leq \beta$  implies  $[A]_\alpha \supseteq [A]_\beta$  and  $]A[_\alpha \supseteq ]A[_\beta$   
*The total ordering of values of  $\alpha$  in  $[0, 1]$  is inversely preserved by set inclusion of the corresponding  $\alpha$ -cuts as well as strong  $\alpha$ -cuts. Equivalently, for any fuzzy set  $A$  and pair  $\alpha_1, \alpha_2 \in [0, 1]$  of distinct values such that  $\alpha_1 < \alpha_2$ , we have:*  
 $[A]_{\alpha_1} \cap [A]_{\alpha_2} = [A]_{\alpha_2}, \quad [A]_{\alpha_1} \cup [A]_{\alpha_2} = [A]_{\alpha_1},$  and similarly for strong  $\alpha$ -cuts.
- iii.  $[A \cup B]_\alpha = [A]_\alpha \cup [B]_\alpha$  and  $[A \cap B]_\alpha = [A]_\alpha \cap [B]_\alpha$
- iv.  $]A \cup B[_\alpha = ]A[_\alpha \cup ]B[_\alpha$  and  $]A \cap B[_\alpha = ]A[_\alpha \cap ]B[_\alpha$   
*That is, all  $\alpha$ -cuts and strong  $\alpha$ -cuts of any fuzzy multiset form two distinct families of nested crisp multisets.*
- v.  $[A \oplus B]_\alpha = [A]_\alpha \oplus [B]_\alpha$  and  $]A \oplus B[_\alpha = ]A[_\alpha \oplus ]B[_\alpha$

*Proof.* See [9] for proofs. □

There exist a multitude of mathematical concepts such as *boundedness, convexity, connectedness, arc-wise connectedness, star-shaped, having holes*, etc., defined in terms of  $\alpha$ -cuts (see e.g., [1, 2, 8], for details). Moreover, the collection of fuzzy multisets, akin to that of ordinary fuzzy sets on a universe, forms a distributive lattice, though not a complemented one (see [2], for details).

### 3. INVERSE $\alpha$ -CUTS AND THEIR PROPERTIES IN FUZZY SETS

**Definition 3.1.** (Inverse  $\alpha$ -cuts [10])

Let  $A \in F(X)$  and  $\alpha \in [0, 1]$ . Then the non-fuzzy set

$${}^\alpha A^{-1} = \{x \in X \mid \mu_A(x) < \alpha\}$$

is called an *inverse  $\alpha$ -cut* ( or *inverse  $\alpha$ -level set* ) of  $A$ .

If the strict inequality is replaced by the weak inequality  $\leq$ , then it is called a *weak inverse  $\alpha$ -cut* of  $A$ , denoted by  ${}^{\alpha^-} A^{-1}$ . That is,

$${}^{\alpha^-} A^{-1} = \{x \in X \mid \mu_A(x) \leq \alpha\}.$$

**Proposition 3.2.** *Let  $A, B \in F(X)$  and  $\alpha, \beta \in [0, 1]$ . The following properties hold:*

- i.  ${}^\alpha A^{-1} \subseteq {}^{\alpha^-} A^{-1}$
- ii.  $\alpha \leq \beta$  implies  ${}^\alpha A^{-1} \subseteq {}^\beta A^{-1}$  and  ${}^{\alpha^-} A^{-1} \subseteq {}^{\beta^-} A^{-1}$
- iii.  ${}^\alpha (A \cap B)^{-1} = {}^\alpha A^{-1} \cup {}^\alpha B^{-1}$ ,  ${}^\alpha (A \cup B)^{-1} = {}^\alpha A^{-1} \cap {}^\alpha B^{-1}$ , and  
 ${}^\alpha A^{-1} \cap {}^\alpha B^{-1} \subseteq {}^\alpha (A \cap B)^{-1}$

- iv.  $\alpha^-(A \cap B)^{-1} = \alpha^-A^{-1} \cup \alpha^-B^{-1}$ ,  $\alpha^-(A \cup B)^{-1} = \alpha^-A^{-1} \cap \alpha^-B^{-1}$ , and  $\alpha^-A^{-1} \cap \alpha^-B^{-1} \subseteq \alpha^-(A \cap B)^{-1}$
- v.  $\alpha((A^{-1})') = (1-\alpha)^-(A^{-1})'$
- vi.  $1A^{-1} = X$
- vii.  $A \subseteq B$  iff  $\alpha B^{-1} \subseteq \alpha A^{-1}$ ;  $A \subseteq B$  iff  $\alpha^-B^{-1} \subseteq \alpha^-A^{-1}$
- viii.  $A = B$  iff  $\alpha B^{-1} = \alpha A^{-1}$ ;  $A = B$  iff  $\alpha^-B^{-1} = \alpha^-A^{-1}$

*Proof.* i.  $x \in \alpha A^{-1} \implies \mu_A(x) < \alpha \implies \mu_A(x) \leq \alpha \implies x \in \alpha^-A^{-1}$ , hence  $\alpha A^{-1} \subseteq \alpha^-A^{-1}$ .

ii. Part I

$x \in \alpha A^{-1} \implies \mu_A(x) < \alpha \implies \mu_A(x) < \beta$  (since  $\alpha \leq \beta$ )  $\implies x \in \beta A^{-1}$ , hence  $\alpha A^{-1} \subseteq \beta A^{-1}$ .

Part II

$x \in \alpha^-A^{-1} \implies \mu_A(x) \leq \alpha \implies \mu_A(x) \leq \beta$  (since  $\alpha \leq \beta$ )  $\implies x \in \beta^-A^{-1}$ , hence  $\alpha^-A^{-1} \subseteq \beta^-A^{-1}$ .

iii. Part I

$x \in \alpha(A \cap B)^{-1} \implies \mu_{(A \cap B)}(x) < \alpha \implies \min\{\mu_A(x), \mu_B(x)\} < \alpha \implies \mu_A(x) < \alpha$  or  $\mu_B(x) < \alpha \implies x \in (\alpha A^{-1} \cup \alpha B^{-1})$ , hence  $\alpha(A \cap B)^{-1} \subseteq \alpha A^{-1} \cup \alpha B^{-1}$ .

Conversely,  $x \in \alpha A^{-1} \cup \alpha B^{-1} \implies x \in \alpha A^{-1}$  or  $x \in \alpha B^{-1} \implies \mu_A(x) < \alpha$  or  $\mu_B(x) < \alpha \implies \min\{\mu_A(x), \mu_B(x)\} < \alpha \implies \mu_{(A \cap B)}(x) < \alpha \implies x \in \alpha(A \cap B)^{-1}$ , hence  $\alpha A^{-1} \cup \alpha B^{-1} \subseteq \alpha(A \cap B)^{-1}$ .

Thus,  $\alpha(A \cap B)^{-1} = \alpha A^{-1} \cup \alpha B^{-1}$ .

Part II

$x \in \alpha(A \cup B)^{-1} \implies \max\{\mu_A(x), \mu_B(x)\} < \alpha \implies \mu_A(x) < \alpha$  and  $\mu_B(x) < \alpha \implies x \in \alpha A^{-1} \cap \alpha B^{-1}$ , hence  $\alpha(A \cup B)^{-1} \subseteq \alpha A^{-1} \cap \alpha B^{-1}$ .

Conversely,  $x \in \alpha A^{-1} \cap \alpha B^{-1} \implies x \in \alpha A^{-1}$  and  $x \in \alpha B^{-1} \implies \mu_A(x) < \alpha$  and  $\mu_B(x) < \alpha \implies \max\{\mu_A(x), \mu_B(x)\} < \alpha \implies \mu_{(A \cup B)}(x) < \alpha \implies x \in \alpha(A \cup B)^{-1}$ , hence  $\alpha A^{-1} \cap \alpha B^{-1} \subseteq \alpha(A \cup B)^{-1}$ .

Thus,  $\alpha(A \cup B)^{-1} = \alpha A^{-1} \cap \alpha B^{-1}$ .

Part III

The proof follows from the converse of part II.

iv. Part I

$x \in \alpha^-(A \cap B)^{-1} \implies \mu_{(A \cap B)}(x) \leq \alpha \implies \min\{\mu_A(x), \mu_B(x)\} \leq \alpha \implies \mu_A(x) \leq \alpha$  or  $\mu_B(x) \leq \alpha \implies x \in (\alpha^-A^{-1} \cup \alpha^-B^{-1})$ , hence  $\alpha^-(A \cap B)^{-1} \subseteq \alpha^-A^{-1} \cup \alpha^-B^{-1}$ .

Conversely,  $x \in \alpha^-A^{-1} \cup \alpha^-B^{-1} \implies x \in \alpha^-A^{-1}$  or  $x \in \alpha^-B^{-1} \implies \mu_A(x) \leq \alpha$  or  $\mu_B(x) \leq \alpha \implies \min\{\mu_A(x), \mu_B(x)\} \leq \alpha \implies \mu_{(A \cap B)}(x) \leq \alpha \implies x \in \alpha^-(A \cap B)^{-1}$ , hence  $\alpha^-A^{-1} \cup \alpha^-B^{-1} \subseteq \alpha^-(A \cap B)^{-1}$ .

Therefore,  $\alpha^-(A \cap B)^{-1} = \alpha^-A^{-1} \cup \alpha^-B^{-1}$ .

Part II

$x \in \alpha^-(A \cup B)^{-1} \implies \max\{\mu_A(x), \mu_B(x)\} \leq \alpha \implies \mu_A(x) \leq \alpha$  and  $\mu_B(x) \leq \alpha \implies x \in \alpha^-A^{-1} \cap \alpha^-B^{-1}$ , hence  $\alpha^-(A \cup B)^{-1} \subseteq \alpha^-A^{-1} \cap \alpha^-B^{-1}$ .

Conversely,  $x \in \alpha^-A^{-1} \cap \alpha^-B^{-1} \implies x \in \alpha^-A^{-1}$  and  $x \in \alpha^-B^{-1} \implies \mu_A(x) \leq \alpha$  and  $\mu_B(x) \leq \alpha \implies \max\{\mu_A(x), \mu_B(x)\} \leq \alpha \implies \mu_{(A \cup B)}(x) \leq \alpha$

$\implies x \in {}^{\alpha^-}(A \cup B)^{-1}$ , hence  ${}^{\alpha^-}A^{-1} \cap {}^{\alpha^-}B^{-1} \subseteq {}^{\alpha^-}(A \cup B)^{-1}$ . Therefore,  ${}^{\alpha^-}(A \cup B)^{-1} = {}^{\alpha^-}A^{-1} \cap {}^{\alpha^-}B^{-1}$ .

Part III

The proof follows from the converse of part II.

- v.  $x \in {}^{\alpha}((A^{-1})') \implies 1 - \mu_A(x) = \mu_{A'}(x) < \alpha \implies \mu_A(x) > 1 - \alpha \implies x \notin (1-\alpha)^{-}A^{-1} \implies x \in (1-\alpha)^{-}(A^{-1})'$  hence  ${}^{\alpha}((A^{-1})') \subseteq (1-\alpha)^{-}(A^{-1})'$ .

Conversely,  $x \in (1-\alpha)^{-}(A^{-1})' \implies x \notin (1-\alpha)^{-}A^{-1} \implies \mu_A(x) > 1 - \alpha$  and  $1 - \mu_A(x) < \alpha \implies \mu_{A'}(x) < \alpha \implies x \in {}^{\alpha}((A^{-1})') \implies (1-\alpha)^{-}(A^{-1})' \subseteq {}^{\alpha}((A^{-1})')$ , hence  ${}^{\alpha}((A^{-1})') = (1-\alpha)^{-}(A^{-1})'$ .

- vi. The proof follows from the definition.

- vii. For any  $x \in X$ ,  $A \subseteq B$  if and only if  $\mu_A \leq \mu_B$ , if  $\mu_B < \alpha \implies \mu_A < \alpha$  if and only if  $x \in {}^{\alpha}B^{-1}$  and  $x \in {}^{\alpha}A^{-1}$  if and only if  ${}^{\alpha}B^{-1} \subseteq {}^{\alpha}A^{-1}$ .

The proof of the second part follows similarly.

- viii. The proof follows from the definition. □

**Remark 3.3.** Property (ii) stresses that the set sequences  $\{{}^{\alpha^-}A^{-1} | \alpha \in [0, 1]\}$  and  $\{{}^{\alpha}A^{-1} | \alpha \in [0, 1]\}$  of inverse  $\alpha$ -cuts and weak inverse  $\alpha$ -cuts, respectively, are monotonic increasing with respect to  $\alpha$  and thus form a nested family of sets. Further, contrary to the case with  $\alpha$ -cuts and strong  $\alpha$ -cuts, properties (iii) and (iv) show that the standard fuzzy set intersection and fuzzy set union are neither inverse  $\alpha$ -cutworthy nor weak inverse  $\alpha$ -cutworthy.

#### 4. INVERSE $\alpha$ -CUTS IN FUZZY MULTISSETS

**Definition 4.1.** The inverse  $\alpha$ -cut ( $\alpha \in (0, 1]$ ) of a fuzzy multiset  $A$ , denoted by  ${}^{\alpha}[A]^{-1}$ , is a crisp multiset defined as follows:

$$\mu_A^j(x) \geq \alpha \Rightarrow \text{cont } {}^{\alpha}[A]^{-1} = 0$$

$$\mu_A^j(x) < \alpha, \mu_A^{j-1}(x) \geq \alpha \Rightarrow \text{cont } {}^{\alpha}[A]^{-1} = L(x) - j + 1, j = 1, 2, 3, \dots, L(x).$$

Moreover the weak inverse  $\alpha$ -cut ( $\alpha \in [0, 1)$ ), denoted by  ${}^{\alpha}[A]^{-1}$ , is a crisp multiset defined as follows:

$$\mu_A^j(x) > \alpha \Rightarrow \text{cont } {}^{\alpha}[A]^{-1} = 0$$

$$\mu_A^j(x) \leq \alpha, \mu_A^{j-1}(x) > \alpha \Rightarrow \text{cont } {}^{\alpha}[A]^{-1} = L(x) - j + 1, j = 1, 2, 3, \dots, L(x).$$

**Remark 4.2.** It may be observed that  ${}^{\alpha}[A] \cup {}^{\alpha}[A]^{-1} \neq X$ , contrary to the case in fuzzy sets where  ${}^{\alpha}A \cup {}^{\alpha}A^{-1} = X$  [10].

**Example 4.3.** Let  $X = \{x_1, x_2, x_3\}$ ,

$$A = \{\{0.9, 0.3, 0.3\}/x_1, \{0.7, 0.4\}/x_2, \{0.7, 0.6, 0.6\}/x_3\},$$

and  $\alpha = 0.4$ . Thus we have

$${}^{0.4}[A] = \{1/x_1, 2/x_2, 3/x_3\}$$

and

$${}^{0.4}[A]^{-1} = \{2/x_1\}.$$

Now,  ${}^{0.4}[A] \cup {}^{0.4}[A]^{-1} = \{2/x_1, 2/x_2, 3/x_3\}$  whose root set is  $X$ .

**Proposition 4.4.** *Let  $A, B, C \in FM(X)$ . The following properties hold for  $\alpha, \beta \in (0, 1]$ :*

- i.  ${}^\alpha[A]^{-1} \cup {}^\alpha[B]^{-1} = {}^\alpha[B]^{-1} \cup {}^\alpha[A]^{-1}; {}^\alpha[A]^{-1} \cap [B]^{-1} = {}^\alpha[B]^{-1} \cap {}^\alpha[A]^{-1}$
- ii.  ${}^\alpha]A[^{-1} \cup {}^\alpha]B[^{-1} = {}^\alpha]B[^{-1} \cup {}^\alpha]A[^{-1}; {}^\alpha]A[^{-1} \cap {}^\alpha]B[^{-1} = {}^\alpha]B[^{-1} \cap {}^\alpha]A[^{-1}$
- iii.  ${}^\alpha[A]^{-1} \cup ({}^\alpha[B]^{-1} \cup {}^\alpha[C]^{-1}) = ({}^\alpha[A]^{-1} \cup {}^\alpha[B]^{-1}) \cup {}^\alpha[C]^{-1};$   
 ${}^\alpha[A]^{-1} \cap ({}^\alpha[B]^{-1} \cap {}^\alpha[C]^{-1}) = ({}^\alpha[A]^{-1} \cap {}^\alpha[B]^{-1}) \cap {}^\alpha[C]^{-1}$
- iv.  ${}^\alpha]A[^{-1} \cup ({}^\alpha]B[^{-1} \cup {}^\alpha]C[^{-1}) = ({}^\alpha]A[^{-1} \cup {}^\alpha]B[^{-1}) \cup {}^\alpha]C[^{-1};$   
 ${}^\alpha]A[^{-1} \cap ({}^\alpha]B[^{-1} \cap {}^\alpha]C[^{-1}) = ({}^\alpha]A[^{-1} \cap {}^\alpha]B[^{-1}) \cap {}^\alpha]C[^{-1}$
- v.  ${}^\alpha]A[^{-1} \subseteq {}^\alpha]A[^{-1}$
- vi.  $\alpha \leq \beta$  implies  ${}^\alpha[A]^{-1} \subseteq {}^\beta[A]^{-1}$  and  ${}^\alpha]A[^{-1} \subseteq {}^\beta]A[^{-1}$

*Proof.* The proofs of i – iv are immediate.

- v.  $x \in {}^\alpha[A]^{-1} \implies \mu_A^j(x) < \alpha, j = 1, 2, \dots, L(x) \implies \mu_A^j(x) \leq \alpha, j = 1, 2, 3, \dots, L(x) \implies x \in {}^\alpha]A[^{-1}$ , hence  ${}^\alpha[A]^{-1} \subseteq {}^\alpha]A[^{-1}$ .

vi. part I

- $x \in {}^\alpha[A]^{-1} \implies \mu_A^j(x) < \alpha, j = 1, 2, 3, \dots, L(x) \implies \mu_A^j(x) < \beta, j = 1, 2, 3, \dots, L(x)$  (since  $\alpha \leq \beta$ )  $\implies x \in {}^\beta[A]^{-1}$ , hence  ${}^\alpha[A]^{-1} \subseteq {}^\beta[A]^{-1}$ .

Part II

- $x \in {}^\alpha]A[^{-1} \implies \mu_A^j(x) \leq \alpha, j = 1, 2, 3, \dots, L(x) \implies \mu_A^j(x) \leq \beta, j = 1, 2, 3, \dots, L(x)$  (since  $\alpha \leq \beta$ )  $\implies x \in {}^\beta]A[^{-1}$ , hence  ${}^\alpha]A[^{-1} \subseteq {}^\beta]A[^{-1}$ .

□

## 5. CONCLUSION

Inverse  $\alpha$ -Cuts and their properties in fuzzy sets and fuzzy multisets are described. It is shown (section 4) that the ground set over which fuzzy multisets are built cannot be decomposed into its  $\alpha$ -cuts and inverse  $\alpha$ -cuts, unlike in fuzzy sets.

**Acknowledgements.** The authors are grateful to the referees for their constructive suggestions on this paper. A preliminary version of this paper was presented at 51<sup>st</sup> Annual National Conference of the Mathematical Association of Nigeria (MAN), 2014.

## REFERENCES

- [1] J. G. Brown, A note on fuzzy sets, Information and Control 18 (1971) 32–39.
- [2] E. W. Chapin, Jr., Set-valued set theory: I, Notre Dame J. Formal Logic 15 (1974) 619–634.
- [3] R. Chutia, S. Mahanta and H. K. Baruah, An alternative method of finding the membership of a fuzzy number, International Journal of Latest Trends in Computing 1(2) (2010) 69–72.
- [4] P. Dutta, H. Boruah and T. Ali, Fuzzy arithmetic with and without using  $\alpha$ -cut method: A comparative study, International Journal of Latest Trends in Computing 2(1) (2011) 99–107.
- [5] G. J. Klir and B. Yuan, Fuzzy Sets and Fuzzy Logic: Theory and Applications, Prentice Hall, 1995.
- [6] V. Kreinovich, Membership functions or  $\alpha$ -cuts? Algorithmic (constructivist) analysis justifies an interval approach, Appl. Math. Sci. (Ruse) 7(5) (2013) 217–228.

- [7] S. Mahanta, R. Chutia and H. K. Baruah, Fuzzy arithmetic without using the method of  $\alpha$ -cut, *International Journal of Latest Trends in Computing* 1(2) (2010) 73–80.
- [8] S. Miyamoto, Fuzzy multisets with infinite collections of memberships, *Proc. of the 7<sup>th</sup> International Fuzzy System Association World Congress (IFSA '97)*, (1997) 25–30.
- [9] D. Singh, A. J. Alkali and A. I. Isah, Some applications of  $\alpha$ -cuts in fuzzy multiset theory, *Journal of Emerging Trends in Computing and Information Sciences* 5(4) (2014) 328–335.
- [10] Z. Sun and J. Han, Inverse alpha-Cuts and Interval  $[a, b]$ -cuts, *Proceedings of the International Conference on Innovative Computing, Information and Control Beijing*, IEEE Press, (2006) 441–444.
- [11] A. Syropoulos, On generalized fuzzy multisets and their use in computation, *Iran. J. Fuzzy Syst.* 9(2) (2012) 113–125.
- [12] R. R. Yager, On the theory of bags, *Internat. J. Gen. Systems* 13(1) (1987) 23–37
- [13] L. A. Zadeh, Fuzzy sets, *Information and Control* 8 (1965) 338–353.

DASHARATH SINGH([mathdss@yahoo.com](mailto:mathdss@yahoo.com))

Former professor (Indian Institute of Technology Bombay) Professor, Department of Mathematics, Ahmadu Bello University, Zaria, Nigeria

ALHAJI JIBRIL ALKALI ([alkali4real2012@gmail.com](mailto:alkali4real2012@gmail.com))

Ph. D. Research Scholar Department of Mathematics, Ahmadu Bello University, Zaria, Nigeria

AHMED IBRAHIM ISAH ([aisah204@gmail.com](mailto:aisah204@gmail.com))

Ph.D. Research Scholar Department of Mathematics, Ahmadu Bello University Zaria, Nigeria